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IMPORTANT NOTES:

1) Please make sure that you have written your student number and name above.
2) Check that the exam paper contains 6 problems.

3) Show all )'rour work. No points will be given to correct answers without reasonable
work.



1. (10 pts.) Find the points of discontinuity (if any) of the function
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- Explain your answer in detail.
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2. (11 pts.) Find the equation of the tangent line to the curve y® = 22 — In{zy + 1) — 8
at the point where z = 0.
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3. Find the derivatives of the following functions. Simplify your answers as much as
possible.
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c) (10 pts.) g(z) = (= + 2)*(322 +7)\/$27
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4. Find ¢ in the following expressions and simplify your answer as much as possible.
a) (10 pts.) ze¥ =In(z —y) +5
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5. Given that f(1) =0, f/(1) =3, f(2)=-1, f'(2) =—-2,9(1) =4, ¢(1) =2, 9(2) =1
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b) (7 pts.) If k(z) = f(g(2z)), then compute £'(1).
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6. (10 pts.) Find the largest possible area for an isosceles triangle if the length of each of
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its two equal sides is 20 cm. o b
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